
Write the sentence: 

It’s a ball. It’s a bike. It’s a car. It’s a doll. It’s a kite. 

It’s a teddy bear. It’s a train. 

 

__________________ _________________ 
 

______________________ ______________________ 

______________________  ______________________ 

______________________  



Answers 

It’s a ball. It’s a bike. It’s a car. It’s a doll. It’s a kite. 

It’s a teddy bear. It’s a train. 

 

It’s a train. .It’s a bike. 
 

It’s a kite. It’s a car. 

It’s a bear.  It’s a ball. 

It’s a doll. 


